DU MA Political Science

Topic:- PS MA
1) Which theory did Marx borrow from the liberal economists?

qTd 7 I FAaTRAAT | F17 97 gt wgwr AT 91?7[Question ID = 1472]
1. Theory of class-struggle/a-#= &1 #Frgia [Option ID = 5885]

2. Theory of alienation/s=T FT =77 [Option ID = 5886)]

3. Labor theory of value/=% #T 779 TH&i7 [Option ID = 5887)

4. Theory of democracy/# T = FT ffrgiT [Option ID = 5888]

2) A.The rise of German power caused World War |.

B. Kaiser Wilhelm II's clumsy diplomacy caused World War |I.

C. Germany's militarist ideology, which glorified aggressive war, caused World War |.
D. The capitalist class conflict caused World War |

Choose the correct answer from the options given below:

A.SHT af3F F7 377 747 F47 5 F7 FTCT FH7

B. #ax fasgw 1| #Y agtw gty waw frw 3@ %71 1o a+t

C. A &1 rgardt =g, Rrad sreras gg &1 afgwrafEa frar, waw frsa g@ w1 Frow aar7
D. §sfrufa avf &1 d9d yaw 4 38 & FTIU AT

= faw o fraweat & & gy O A .

[Question ID = 1473]
1. Aand B only/#F3 A %7 B

[Option ID = 5889]
2. A, B, and Conly/Fa7 A, B =7 C

[Option ID = 5890]
3. Cand D only/#37 C &= D

[Option ID = 5891]
4. All are correct/A, B, C, D #+ft a8t &

[Option ID = 5892]

3) The concept of ‘Policy science’ was formulated for the first time by

A e & srargroor gyt avT frwd grer 91T AT € 91?2[Question ID = 1474]
. Herbert Simon/g4< ©Tza+ [Option ID = 5893]
Charles E. Lindblom/=T= . f*iz=419 [Option ID = 5894]
Harold Laswell/g71#= &A=+ [Option ID = 5895]
Yehezkel Dror/T2@% 217 [Option ID = 5896]

B bt b=

4) Duverger-Riker model tries to establish link between

TAS-fewT atew farwg & @ s e dd9 e $T7 #7 9979 FTAT € :[Question ID = 1475]
. Fundamental Rights and Directive Principles/®Tfer sifersme siiv fger frgia [Option ID = 5897]

Electoral system and caste mobilization/=ATa JuITT ¥ 17 F==+ [Option ID = 5898]

Party system and electoral system/TTEf 9oIT=t @ FATET 9orT=T [Option ID = 5899]

Federalism and Party system/®9aTs 37 9121 worm=! [Option ID = 5900]

£t B =

5) Match List | with List li

List | List I

A. Mandala |I. Jayaprakash Narayan
B.Advaita Vedanta III.Kauti lya

C. Saptkranti |III. Ziauddin Barani

D. Fatwa—i-jahandhaﬁllV.Vivekanand

Choose the correct answer from the options given below:

gt -1 F7 gt -1 | gAafog Nfve:
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Rt -

Rt -1I

A, HEH |, STAWHRTLT AT
B. sraa daid Il. wYfesr

C. gaswifa . fRrarsdts I
D. waAT -g-wgiart Iv. 3% T

19 fag e fAweat & @ adr sacgfo:

[Question ID = 1476]

1. A-1,B-1,C-1ll, D-IV/A -
2. A-Il,B-1,C-1V,D-I/A-
3. A-I,B-IV,C-1,D-Ill/A -
A A=Al BV Eoslll Boe 1A

6) Which one of the following is not a characteristic of ‘Sala Model’?

I,
I,
I,
I,

B -
B -
B -
B -

s
I, C- IV, D - Ill [Option ID = 5902]
IV, C -1, D - IIl [Option ID = 5903]
IV, C - lll, D - | [Option ID = 5904]

Ill, D - IV [Option ID = 5901]

frafafaa & @ w17 a1 9@ wted 1 fadvar 787 §2[Question ID = 1477]

.h.uwn.s

Institutional corruption/# T gET=TT [Option ID = 5905]
Nepnhsmﬁr’:ﬁﬁ?ﬁr [Option ID = 5906]
Formalism/fara-f==aT [Option ID = 5907]

Actual behavior is similar to formal expectations/aT=I1aF =HFETT MTATF ATATA F FAT = [Option 1D = 5908]

7) Which thinker made the following statement, “That the unequal should be given to equals, and the unlike to those who

are like, is contrary to nature”?

o fares 7 Fafofya w97 fan, 97 aawamw § agaarat &1 RaraEr sy, sichwsasrsraam g, agvgfo s

forafia £"?[Question ID = 1478]
. Plato/=1=T [Option ID = 5909]
Marx /s [Option ID = 5910]
Aristotle/#7=] [Option ID = 5911]
Machiavelli/&fFar==t [Option ID = 5912]

.l':;r..uh.l-—a

8) Match List | with List Il

List |

List I

A.“It's a boy!"

|I. J. Ann Tickner

B."The discipline of international relations, as it has been partially
construed, is defined in terms of everything that is not female.”

fll. Cynthia Weber

C. ‘Heterosexual matrix’

|Itll. The telegram in 1952 by Edward Teller confirming
he success of world's first test of a hydrogen bomb.

D. ‘Women’s participation is important in all efforts for the
maintenance and promotion of peace and security.’

|IV. UN Security Council Resolution 1325.

Choose the correct answer from the options given below:

gt -1 F7 gt -1l & gAfrg fifvg

AT -l

=T -l

A, TEAEFTE !

Il &.3r7. feway

B. "HATYNT G & FT AT ATHA,
StaT i fars €9/ FATATAATE, I8 . FerforaT 3¢

T Htsr & g+ 7 gfesarfa frarwar
Eﬁﬁﬁmﬂ'{fi
lll. 1952 ¥ wead 29T grer far
AT THTATH ST ETEZIAT A7 F
C. Fruwdtis dfesw Eg){ﬁfm%mqﬂwﬁ
g Fzarg

wrftardt Ageaqef €

D. 'erifar sftT grar Y 7T TWAT S
@ETAT I & a1 wqTE § AfgaArsy

qﬂlw' HL® Y LT 7798 §FeT
1325

= feT g fFwedt # / gt suegfag

[Question ID = 1479]
1. A-,B-1,C- 1Il,D-

2. A-IN,B-1,C-IV,D-

3. A-M,B-1,C-11,D-

4, A-ILB-NL,C-IV,D-

IV/A-1,B-1l,C-1Il,D- IV [Option ID = 5913]
I/A-1ll, B-1I, C- 1V, D - | [Option ID = 5914]
IV/A -1, B -1, C-Il, D - IV [Option ID = 5915]
I/A -1, B -1, C- IV, D - [Option ID = 5916]

9) With which of the following scholars of nationalism does Partha Chatterjee lay out his disagreement in his book ‘The
Nation and Its Fragments: Colonial and Postcolonial Histories’?

a1 ST & Aot gFas ' A97 U gTH waHH: FrarfAgw ve eewarfraw ffEh S F ugare @

8 farg fygm .
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® A19 AUAT srgguiy =T #T 2?2[Question ID = 1480]
. Anthony Smith /4t f&ra [Option ID = 5917]

Ernest Gellner/#+#= f==7 [Option ID = 5918]

Benedict Anderson/= 2= t=7s [Option ID = 5919]

Elie Kedourie/T#T #=T¥T [Option ID = 5920]

.p.um-a

10) Which Indian thinker is associated with the political pamphlet Bhawani Mandir written during the time of partition of

Bengal?

FITe frwreT & w9y @ v usAtos depae (vaw) wardt §R7 & few ety fA=TeE w7 €99 §?2[Question ID = 1481]

Sri Aurobindo/ 4t @*f&=T [Option ID = 5921]

Rabindranath Tagore/7f&zAT4 #3717 [Option ID = 5922]

Bankim Chandra Chattopadhyay/#@ %+ =% =rZrrearr [Option ID = 5923]
Subhash Chandra Bose/s4TT 5% a5 [Option ID = 5924]

LLAJM"‘

11) Match List | with List Il

List | List Il

A. Chester Barnardjl. Philosophy of administration
B.Herbert Simon |II.Ideas and Issues in Public Administration|
C. Dwight Waldo ]III. Administrative Behavior

D. Marshall Dimock|lV.The Functions of the Executive
Choose the correct answer from the options given below:

gt -l FY AT -1l & gARHT ffvg

Y I g -

A. FeeT i || Rewiaidt ats efrfaes aw

B. g€ argwa ||l AT 4T 39T 7 ufdws gefhfaed e

C. garze areeT I, yefufaedfeg agfaax

D. wrsfer Rrwt® IV, T waa atw 7 uirasgfea

= faT o fFrweat # & gt swe g

[Question ID = 1482]

1. A-lIILB-IV,C-Il,D-1/A-1Il,B-1IV,C-Il, D-I|[Option ID = 5925]
2. A-IV,B-1l,C-1,D-1/A-1,B-1ll,C-1l,D- IV [Option ID = 5926]
3. A-I,B-IV,C-1l,D-1I/A-1,B -1V, C-Il, D - Ill [Option ID = 5927]
4. A-1,B-1l,C-1I,D-IV/A-1I,B-1ll,C-IV,D-I[Option ID = 5928]

12) Match List | with List Il

List | IList Il

A. Contingent foundations |I. David Held

B. Gender as Performance |II.Francm’s Lyotard
C. Culture industry |III. Judith Butler
D. Cosmopolitan demucraqfll‘i.Theudure Adorno and Max Horkheimer
Choose the correct answer from the options given below:

g -1 F7 gt -1l & gafrg fifvg

et -l Y -l

A, FTEdz wreR e I 2o gee

B. ST TS IIHIA Il hFTEE FaTaTe
C. Fea< e . ey gz

D. FiedIqIfes TMAET |V, AT o1t ve v rd gy

= fag e fawedt # & adt swegfhT:

[Question ID = 1483]

1. A-IV, B-II,C-1I,D-I/A-IV,B-1I,C- 1, D-1I[Option ID = 5929]
2. A-L,B-1I,C-N,D-IV/A-1,B-1I,C-1l,D- IV [Option ID = 5930]
3. A-IV,B-ILLC-1,D-1/A-1IV,B-1ll,C-1I, D-1[Option ID = 5931]
4, A-I,B-1I,C-IV,D-I/A-1I,B-1ll,C-IV,D-I[Option ID = 5932]

13) A. Westphalia was not a European-wide agreement, but a local affair.
B. Westphalia decreed that each territory would retain the religion it held on 1 January 1624.

C. Westphalia is the only starting point for thinking about these issues.

D. In the 1890s global order was widely understood through the lens of liberal internationalism or liberal solidarism.

Choose the correct answer from the options given below:
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A . aeenferar s gOdftg-sardt aamtar gt a1, afF gF eqrAg ATAAT A7

B. aehierar & hawr a1y I v % &% 1 Sadt 1624 Y <Y g7 g Ig A7 TWAT

C. Aeehferar T7 qE # X/ Ar=a &1 THATT Tfos faig 8

D. 1890 # Tu% § %% =qaeqT &1 ATTH €T & IITT AT EIIATE IT ITMIL CHLEAT R AF $ ATEAH & GAATTAT AT
= frT g et # & agt g9 qd .

[Question ID = 1484]
1. All are correct. /=4t 721 &

[Option ID = 5933]
2. A, B,and C only/#39 A, B 7 C

[Option ID = 5934]
3. AandB only/Fa+ A #7 B

[Option ID = 5935]
4, B,C,and Donly/¥39 B, Cs= D

[Option ID = 5936]
14) Which of the following statements best captures the meaning of ‘catch all’ parties?

frafafaa ® @ st a1 597 'd9 aft« orfeat 3 9 F7 q98 a=5t a1g ] afar 82[Question ID = 1485]

1. Parties that emphasize on broadening membership and constructing a wide electoral base/# 39 =T #=ea7 % A= v =7+ =F|'I7ﬁ AT & fAwior a7

¥ 57 £ [Option ID = 5937]
2. Parties that reduce their ideological baggage and appeal to the largest possible number of voters/d = =T A7+ F=11F 12T F1 F9 F74 £ A7 Faararar

£ wtferses #aa de=ar 1 wnfter 59 € [Option ID = 5938)
3. Parties whose primary function is to secure large number of votes/f= == &1 rafas F1f 7t g & 712 21f%= F791 2 [Option ID = 5939]
4, Parties that wish to mobilize, educate and inspire masses rather than merely respond to their concerns. /Tt arfEat st Fae s=ar £t A 1 s=2ra

T F AATT IAFT FTET FAT, FOrfErg Fear s G A == # [Option ID = 5940]

15) Which of the following are true about Savarkar’s political philosophy?

A. He differentiated between Hindutva and Hinduism and believed that unlike Hinduism Hindutva was a civilizational and
politico-cultural category.

B. He referred to the rebellion of 1857 as 'The Indian War of Independence.’

C. In his book ‘Hindu Pad-Padashahi’ discusses the rule of Shivaji as the last Hindu Empire and also praises the sense of
solidarity among Muslims.

D. He believed that Hindu consolidation was impossible to achieve in light of the practice of untouchability, and hence he
called for its annihilation.

Choose the correct answer from the options given below:

HTAEHT & UAAIIF 7 3 aX # fwfofaa 7 @ staarsgaasa §2
A. 3egiw fEge < fEg g @ = siax frar s arar P g a9 & ol By s avaar sk aedtfos-aiegios St 9
B. Svgivt 1857 & fasig &1 W< IT T9a 7T G UTH FET

C. &7t s g v-wrgargl § =g faarslt &1 ava+7 vw 0w By argrsg @ ar § =91 9 §C La@qq191 & 4= TFHoLear
FY ATFAT # T HT TAATHT B

D. IAFT ATAAT AT 3% Aeqeqar 1 747 R aers 7 fEg aRHT 7 77 FCAT A6 9T 97, AT gafore I o8 e &1 areqrw
g
1= frg g faseai # & wfy Swe g+ ¢

[Question ID = 1486]
1. Aand B only/F37 A 57 B

[Option ID = 5941]
2. A, B,and Donly/F37 A, B#IT D

[Option ID = 5942]
3. Cand D only/Fa= C siw D

[Option ID = 5943]
4, A, B, C,andD/A, B, C=T D

[Option ID = 5944]
16) Who defined development administration as “Action-oriented, goal-oriented administrative system”?

frafaa wares F1 "FEITE-I7 T, AEF-ITHG TATHAT TOUTAT" F ®7 § FFFaa ghoariva fFam?[Question ID = 1487]
1. Fried W. Riggs/®T== =579 %7 [Option ID = 5945]
2. Dwight Waldo/zaTs= aT==T [Option ID = 5946]

3. Robert Dahl/71aZ %=+ [Option ID = 5947]
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4. Edward Weidner/m=a% 3277 [Option ID = 5948]

17) Who amongst the following thinkers is considered a ‘Reluctant Democrat’?

frafafaa & @ fra fF=res w1 afvsgs SWTH e ATAT ITAT 2[Question ID = 1488]
. Thomas Hobbes/4=19% 2127 [Option ID = 5949]

John Locke/=i9 =% [Option ID = 5950]

John Stuart Mill/siT7 =2 &= [Option 1D = 5951]

Alexis de Tocqueville/T=TFa# =T ZiF4= [Option ID = 5952]

.hl.h.lh-.'l—-h

18) India is a member of which among the following:
A. Asia-Pacific Economic Cooperation

B. Association of South-East Asian Nations

C. East Asia Summit

Choose the correct answer from the options given below:

a1ew fawufafas & @ frasr geen &
A. Tfargr-gaiq srfds ggarT

B. zfdror-gd ufirard it srdw

C. g uferar fraT gei e

= faw o fraweat & & gy O A .

[Question ID = 1489]
1. Aand B only/#F3 A %7 B

[Option ID = 5953]
2. Conly/F37 C

[Option ID = 5954]
3. A,B,and Conly/A, B, C

[Option ID = 5955]
4, None of them/=7H & 1% 721

[Option ID = 5956]
19) The emergence of constitutionalism is associated with which of the following?

g fargraare 1359 Aafafaa & @ frad ara et gar 8?[Question ID = 1490]

1. The emergence of contracts between rulers and ruled/ et == orfaat % = =i %1 327 [Option ID = 5957]
2. Greater agricultural productivity/®M 3=ama=ar § 3fz [Option ID = 5958]

3. Increasing theocracy/=2AT 25 g9a= [Option ID = 5959]

4. The emergence of totalitarianism/#f4=TaFaT3 FT 339 [Option ID = 5960]

20) Which among the following are important nomenclature of states in Kautilya's Mandala theory?

A. Ari (Enemy state)

B. Vijigishu (State desirous of world conquest)
C. Udasin (Neutral state)

D. Parsnigraha (Friend in the rear)

Choose the correct answer from the options given below:

Fifera @ dea Rrgia & fAefofag § & 17 & st § gl arasr §2
A. 8 (g TT57)

B. fafsrfry (Forew fArsra 71 559 % Trs9)

C. I (TTET TU5T)

D. T fATE (T 7T &)

= frT o fawedi # @ agt IO Hd .

[Question ID = 1491]
1. A,B,Cand D/A, B, C#7 D

[Option ID = 5961]
2. A,B,and D only/F37 A, B&IT D

[Option ID = 5962]
3. Aand D only/#a= A 4= D
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[Option ID = 5963]
4., Aonly/F3T A

[Option ID = 5964]

21) The institution of Ombudsman was accepted for the first time in 1809 by

1809 § HIHITH T TeAqT FT TgT 97T Foras grar w= w1 a1 747 91?2[Question ID = 1492]
1. Denmark/==aT1% [Option ID = 5965]

2. United Kingdﬂmf‘mﬁ? f¥r=7 [Option ID = 5966]

3. Sweden/#f= [Option ID = 5967]

4. Switzerland/fFa=#7=i= [Option ID = 5968]

22) Locke’s ‘Essay Concerning Human Understanding’ was a harbinger of:

T w7 TR ®iAT egHT stewe & feast sraga a917[Question ID = 1493]
. Renaissance/q=T#v0r #T# [Option ID = 5969]

Reformation/d41¥ [Option ID = 5970]

Enlightenment/9aTe+ [Option ID = 5971]

Capitalism/T=ftaT= [Option ID = 5972]

.h.l.n.ll‘\.'l—#

23) Which of the the following statements about NPT and CTBT is/are correct:
1. India has neither signed NPT nor ratified it.

2. India has signed CTBT but not yet ratified it.

TAfE T FAE ® R § fAafafaa ® 8 17 97/8 97 9t 2/28:
1. AT A 7 Y gAftd g geara fru @ sea drgafr e« g
2. ATLA 7 @A T T geara feu € *fFw et as st gie adi«r &

[Question ID = 1494]
1. 1only/Fa7 1

[Option ID = 5973]
2. 2only/F37 2

[Option ID = 5974]
3. Both 1 and 2/3m1 1 3= 2

[Option ID = 5975]
4, Neither 1 nor 2/F AT 1 AT 7 &1 2

[Option ID = 5976]

24) Which of the following were used as arguments by Raja Rammohan Roy in the memorial submitted to King George on
the subject of freedom of press:

A.Free press improves the bond between the governed and the governor.

B.Free press helps in better and efficient administration.

C. Free Press is a Fundamental Right conferred upon all Indians.

D. Free press allows for non-violent religious confrontations through deliberative mechanism.

Choose the correct answer from the options given below:

T FT eFAAAT B (A9 9T TR oIfsl FT WeqT TC A1 | AT UHATgA U g0 fawfoafaa & 9 frasr95 @ €07 geaqma
fFarTaT O™

A TFEF g aTiyg T TsgUTa F A9 THT FTAEILAATAT

B. ¥Fd A IH AZAL AT [N FATHT H AT FIAT ¢

C. TCT ¥T GHT ATLATAT FT TF a0 ATAF ATAFITE

D. Taa ¥ 49 fa=re-fomd a7 & wreaw § afgws arfis esva Fr agafaIard
= feT g fFreedt # & agt O gd .

[Question ID = 1495]
1. Aand B only/Fa A #i7 B

[Option ID = 5977]
2. A,Band D only/F37 A, BsT D

[Option ID = 5978]
3. Conly/Fa= C

[Option ID = 5979]
4, A,B, CandD/A, B, C37TD
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[Option ID = 5980]
25) The acronym, POSDCORB, coined by Luther Gulick stands for:

A FF GTI0 TFT 74T § Frw T77 POSDCORB T o §:[Question ID = 1496]

1. P-Planning, O-Organizing, S-Staffing, D-Directing, CO-Coordinating, R-Reporting, and B-Budgeting. /T - =ifr, &1 - stisiarziom, we - =i, 27 -

T, |4 - FraifEatar, s - farfEr s 41 - 397 [Option ID = 5981]

2. P-Planning, O-Office, S-Supply, D-Demand, CO-Co-operation, R-Report, and B-Budget. /™7 - =i{+, =1 - sif#, oo - A0AT7, =7 - ZHi=, A& - FI-

o, A - frdvE s o - 7577 [Option ID = 5982]

3. P-Planning, O-Organizing, S-Staffing, D-Deputing, CO-Coordinating, R-Resolving, and B-Budgeting. /™t - =tfr, #r - sivtars T, wr - =T, 91 -

Togfa, #Er - FrAfEata, s - e S @ - 3=fET [Option ID = 5983]

4. P-Planning, O-Office, S-Supply, D-Decision making, CO-Co-operation, R-Response, and B-Budget. /T - =i, = - #ifm, vy - g, =1 - Edtew

#fdar, drar - wr-stovem, w7 - Ferf=r s 1 - 397 [Option 1D = 5984]

26) Match List | with List Il

List | List 11
(Theory) (Thinker)
; ; : a I. Michael
A. Shared life of a community reduces mutual opacity and allows common self-understandings to emerge. Wal
alzer
3 SR 30 ) : . 2 Il. Robert
B.The self-directing individual is the only basis of social freedom and economic success. Nozick
i
P — . - . . . lll. Michael
C. A just initial appropriation of resources makes just subsequent economic inequalities resulting from it. Sandel
D. The notion of ‘complex equality’ is designed to ensure that the distributive criteria salient to one sphere does|lV. F. A.
not impinge on other spheres where different criteria are appropriate. Hayek

Choose the correct answer from the options given below:

gt -1 F7 gt -1l & gAfg fifvg

gt -1 T -l

(i) (FraTeEa)

A. TF THETT FT ATAT STTT AT ACTEATFI FAFATE | ATLHA

BT ATATFY AH-AHH FT INIA AT ] LEEIES

B. uw Ta4 fAZfarg =3 arariors s =T she anrfd=s I Tfad

AEAAT HT URATT AETT 8 SRR

C. wargl &1 s wfs fafagrr Rras afoormasmse g |IL 7rgs«

Tt TS 1 A f =+ AgATAary CELC]

D. ‘sifest HTAAT #1 G107 #1 7g ghtaa £33 3 g V. T, T
12+ frgr 9T & F% uF &7 2 e gy fgor arade s }gr.ﬁm T

T ] I AT A gY wrgi RS arad s vy gt

= frr o fweat # & gt s gfAT .

[Question ID = 1497]

1. A-ll,B-l,C-1l,D-IV/A-Il,B-l,C-Il,D-IV[Option ID = 5985]
2. A-Ul,B-IV,C-Il,D-1/A-IIl,B-IV,C-Il,D-|[Option ID = 5986]
3. A-IV,B-I,C-ll,D-UI/A-IV,B-l,C-ll,D- Il [Option ID = 5987]
4. A-Il,B-IV,C-1,D-1II/A-1I,B-IV,C-1,D- Il [Option ID = 5988]

27) "Capitalism constantly needed to expand into non-capitalist areas." Who made the above statement?

"gsftare #Y A-grardt @37 d fAearT F$T3 1 AT AT9THAT 97 " ITA® 77 59 A7 T1?2[Question ID = 1498]

Karl Marx /T AT [Option ID = 5989]

Rosa Luxemburg/7TaT FF=A=7 [Option ID = 5990]
Lenin/# %= [Option ID = 5991]

. A. G. Frank/m.3ft. % [Option ID = 5992]

P s

28) Who among the following has discussed the concept of ‘Chaukhamba model’ of decentralization in the book Aspects of

Socialist Policy?

farafafag @ & fFas garaardt Ay @ = 19 was  RAadww 3 Staar giea 1 aag7eom 97 997 971 22[Question ID =

1499]
1. Jayaprakash Narayan/Z99F14T 917797 [Option ID = 5993]
2. M. N. Roy/mH. 7. 7i7 [Option ID = 5994]

3. Ram Manohar Lohia/¥T9 #4127 =247 [Option ID = 5995]
4. Minoo Masani/is w7+t [Option ID = 5996]

29) Which of the following statements are correct?

A. The Right to Information Rules, 2012 supersede the following Rules the RTI (Regulation of Fee and Cost) Rules, 2005 and

the CIC Rules (Appeal Procedure) 2005.
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B. Under the Right to Information Rules, 2012, fee for inspection of records, for each subsequent hour of inspection is INR
.14

C. A PIO is under no obligation to provide requested information to non-BPL category persons without the payment of
application / initial fees.

D. The Central government’s decision shall be final regarding computation of the period of 20 years as the time period till
which information is to be given.

fAufafaad @ F19 8 sav 9T €7

A. g7 T afaw1< faw, 2012 e RTI (g v amaa w1 Rfaaas) fraw, 2005 sire CIc ffaw (srdfte whsar) 2005
frrawt geafasaw searg

B. g7 %1 af&r=1< fAaw, 2012 & agq, afv=el & Adgu s fag, fMdars v@s s di s fiogss 508 €

C. Tt 9T &g ar Ae-drdrusa Soft F =FREAT F7 ard /9T &% F quarT  faar g srasrh g2 533 3 g arey
g e

D. &% gTHTT &1 fAvfy 20 af #Y srafy Y 7oy # dd9 & a9y vqfy # w0 F 97 78 Frawrd < At 2, Ffw v

= faT o fweat & @ gy suT A

[Question ID = 1500]
1. All are correct/@#dt @& £

[Option ID = 5997]
2. A, CandD/Fa7 A, C 37D

[Option ID = 5998]
3. Band C/F37 B #fiw C

[Option ID = 5999]
4, A,BandD/Fa7 A, BT D

[Option ID = 6000]

30) What is the meaning of ‘winged eros’ as referred to by Alexandra Kollontai?

TAFA ST HIedATaTs ST A FHT o7 a8t O F7T F47 ° 2?2[Question ID = 1501]
Political liberation/1si1f#= #f+F [Option ID = 6001]

. Economic emancipation/#rf¥# gf* [Option ID = 6002]

. Social equality/ATaTfs® #HTAT [Option ID = 6003]

. Comradely love of equals/9TZ=T+ FTAT F9141 F1 =17 [Option 1D = 6004]

o e B =

31) Match List | with List |l

List | IList I
(Event) |{Year}
A. Cuban Missile Crisis |I. 1990
B. Gulf war I. 1962
C. Afghanistan war |III. 1992
D. Bosnia war IV. 2001

Choose the correct answer from the options given below:

g -l F7 gt -1l & gafrg fifvg

AT - qAT -l
(TZAT) ()

A. Fgaw fFrarse sl 1. 1990
B. T#F 71T 1. 1962
C. srgaTfaEara 71T . 1992
D. ff¥rar atx IV. 2001

= faT o fFrweat # & gt swegfag .

[Question ID = 1502]

1. A-1,B-Il,C-Il,D-IV/A-l,B-Il,C-lll,D-IV[Option ID = 6005]
2. A-ll ,B-IV,C-Il,D-1/A-Il,B-IV,C-lll,D-1[Option ID = 6006]
3. A-ll ,B-1,C-IV,D-1I/A-Il , B -1, C-IV,D- Ill [Option ID = 6007]
4, A-IV,B-ll ,C-N,D-I/A-IV,B-ll,C-lll,D-|[Option ID = 6008]

32) The doctrine of ‘Hindutva’ was expounded by

fEgea & fagra 911 sgregt g grar #1 v 91?[Question ID = 1503]
1. V.D. Savarkar/3T.27, #mav%7 [Option ID = 6009]

2. Bal Gangadhar Tilak/&T= 7iwmae &=+ [Option ID = 6010]

3. Shyama Prasad Mukherjee/s3TAT 99T Tﬂ‘aﬁ [Option 1D = 6011]
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4. M. S. Golwalkar/T®, 79, T=F=%7 [Option ID = 6012]

33) According to James Manor, which amongst the following are ‘essential’ as opposed to ‘helpful’ conditions for
democratic decentralization?

ST RAL D FALATE, AHAT AT (DR HLM F (0C gTIF aaf & faodia Aufofag & ) sra-a1 waegs: 87

[Question ID = 1504]
1. High literacy rates, good Human Development Index scores and high per capita incomes/ =g #Ts7aT 57, =l 9194 Fra g==is v 37 uf¥ £ =i
a7

[Option ID = 6013]

2. Enlightened civil society organizations which are well developed and actively engaged in development activities/Tda ATTF THTH HI54 Al A=l T78
o AT & Bem aaEEE A aFa sraaagu
[Option ID = 6014]

3. Lively, free press, multi-party politics and prior experience with democratic politics/sa=, ¥=a= U7, Aga=17 AT AT ATFATHF TS 1 I
EREES
[Option ID = 6015]

4. Adequate powers to elected councils, adequate resources, and adequate accountability mechanisms/ A== afra=t $1 oty afrat, Taiy damm @i
THTH SATEEET A

[Option ID = 6016]
34) Herbert Marcuse uses the term ‘A comfortable, smooth, reasonable, democratic unfreedom’ for

THE ATFE | A UF AOASTIF, g, ST, ArFarF wad 79T a5 7 799097 A7 2 :[Question ID = 1505]
Advanced Industrial Societies/3%ra =r=rfirs draradt [Option ID = 6017]

. Developing Societies/fFT#sfi= a1 [Option ID = 6018]

. Post- Colonial States/3=7-#dfH=fr® 7157 [Option ID = 6019]

. Communist states/#T=TaTaT 7159 [Option ID = 6020]

b P =

35) Critical approaches to International Relations

Fad gy 947 # forg ageagef gfEsrn T3 ¢ :[Question ID = 1506]

1. see unfair and exploitative aspects in the global system/3fa® =rgear # 9= 7 o= 27441 F1 Z=47 [Option 1D = 6021]
2. focus on North/South relations/ 3w/ =ferr F==T 97 &a79 ZA7 [Option ID = 6022]

3. believe war can be a means for dramatic change/ag fFam™ g % 13 ar=fra afvaa+ F1 v= #1971 21 7547 £ [Option 1D = 6023]

4. all of the above/Z771= 74T [Option ID = 6024]

36) Digha Nikaya is a collection of discourses of

a1 fAFw17 99 7997 T ¢F §7E & :[Question ID = 1507]
1. Thiruvalluvar/fa=a=1a7 [Option ID = 6025]

2. Gautama Buddha/#ta® T2 [Option ID = 6026]

3. Mahavira/®gmE1e [Option ID = 6027]

4. Parsvanatha/9r=T4 [Option ID = 6028]

37) What is meant by Zero-Base Budgeting?

SIQ-a 7 F9feT F7 747 o §?2[Question ID = 1508]

1. Evaluation to see whether the goals for which money was sanctioned and was spent have been fulfilled/7z 3+ F =0 g=aia= F Fa1 S =1 & oo
T T AT AT A7 i == e war an, F 97 g0 € [Option 1D = 6029]

2. Budgeting to ensure that the benefits of development are equally available to men and women/Tg FATaa F7a & & a5z F9m971 I FFW F =9
TEAT ST HIEATS T AW =T 7 37924 21 [Option 1D = 6030]

3. Reviewing every scheme before a budgetary allocation is made for it/aTsT % foro aordiy sra=a B 19 & T2 w00 g7 £t adiar F741 [Option 1D
= 6031]

4. Grouping of financial items by category and then comparing actual expenditure with estimated figures/ &=t w=t #1 9vft % s 7% FHRET F747 A7
fop s At F arg areafas = £ ga97 F797 [Option 1D = 6032]

38) Match List | with List II

List | IList I

(Book) I{Authar}

A. The Second 5Sex ]I. Betty Friedan

B. The Feminine Mystique |II. Mary Wollstonecraft
C. Vindications of the Rights of Womerﬂlll. Cynthia Enloe

D. Bananas, Beaches, and Bases |IV. Simone de Beauvoir

Choose the correct answer from the options given below:

gt -1 FY gt -1/ gAfog Aifve:
T - gt -l
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(TF%) (Fa)

A, T ART AFY I. Y e

B. T ®fyfam ArRes Il. & ArEErTHTEE
C. R o aifw g Triey sifw a8+ . fEfarar gaan

D. gaTATY, =g AT I8« Iv. R @ R

19 fag e fAweat & @ adr saegfo:

[Question ID = 1509]
-IV,B-IL,C-l1,D-/A-IV,B-1I,C-lIl,

D - | [Option ID = 6033]

5 I

2. A-IV,B-l,C-Il,D-1I/A-IV,B-l,C-Il,D-Ill [Option ID = 6034]
3. A-Il,B-1,C-1ll,D-IV/A-11,B-l,C-1l D- IV [Option ID = 6035]
4. A-11,B-IV,C-1,D-1I/A-1I,B-1IV, C-l,D - Ill [Option ID = 6036]

39) Ininternational relations non-governmental organizations are considered

FHACUTT GGl § AT-ALHT GASAT FT FIT ATAT IATAT & :[Question ID = 1510]

sub-state actors/37-7Tg #f4==T [Option ID = 6037]
transformative actors/f=da=17 %faaaT [Option 1D = 6038)
weak actors/FHAT ATHAT [Option 1D = 6039]

non-state actors/f7 - 7757 FATHIT [Option 1D = 6040]

B T

40) Consider the following statements with respect to the Election Commission of India: A. The term of office of the

Election Commissioners is the same as the Chairman of the Union Public Service Commission.

B. In case of a difference of

opinion amongst the Chief Election Commissioner and/or other Election Commissioners, the matter is referred to the
President of India. C. Independence of the Election Commission and its insulation from executive interference is ensured by
a special provision under Article 324 of the Constitution of India. Choose the correct statements from the options given

below

ATLT & AT 17 & dag & FAafefas sa97 97 B a8 A, 979 AgH ST HFARTE G F 05 ST AMIT 5 T579 F GHTT
EIGT® B. W& AT LT MYAT AT LATT AMYAHI D 1 ATAI D ATAR |, ATHAAT /LT & UPIFA T AT F07478 C. AT
AT FT T TAT AT FTERTE gEARAT § ITHT AANTT WG ® G IAITH F 787 324 * 7 ¢ (4w wragry grar gt

fﬁﬁnwra 9 fyw g fAweet F & gt 9T A ([Question ID = 1511]

A and B only/#3+ A 47 B [Option ID = 6041]
B and C only/%= B v C [Option ID = 6042]
A and C only/#= A &= C [Option ID = 6043]
All of the above/#T [Option ID = 6044]

.hwhd-—-k

41) What did Machiavelli mean by the term ‘virtue’?

Afrgra«t 799 a7/ FATATAL 97T :

[Question ID = 1512]
1. Moral goodness/afa% w=ari

[Option ID = 6045]
2. Courage and audacity/dTed =7 F7124

[Option ID = 6046]
3. Honesty/ZHT=T

[Option ID = 6047]
4. Justice /19

[Option ID = 6048]

42) What is the largest free-trade area of the world?

fas 7998 TET LH ATITT AT F17 7 82[Question ID = 1513]

1. Mercosur/9#97 (MERCOSUR) [Option ID = 6049]
2. NAFTA/ATTT (NAFTA) [Option ID = 6050]

3. European Union/IZ1¥rT &= [Option ID = 6051]

4, African Union/ =T 5= [Option ID = 6052]

43) Under the Indus Water Treaty (IWT), India has been given the exclusive right over the rivers of

A. Chenab
B. Ravi
C. Beas
D. Indus
E. Sutlej
F. Jhelum
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fayg o & (IWT) # agq, e &7 radt afyat o oy afysre Rarrar @
A. 39TH

B. Trfer

C. fagmw

D. foig

E.gasqs
F. 299

[Question ID = 1514]
1. A, Band Conly/#37 A, B 47 C

[Option ID = 6053]
2. A, CandDonly/Fa7 A, CHT D

[Option ID = 6054]
3. B,CandEonly/#97 B, C #i" E

[Option ID = 6055]
4, A,BandFonly/F39A, BT F

[Option ID = 6056]

44) Which of the following names are associated with the theory of global justice?
A. John Rawls

B. Will Kymlicka

C. Thomas Pogge

D. Robert Nozick

frafafaa € @ st7 ar 917 3% =217 3 RETT | 27 87 A= Ao R & @ af sacgd
A, sitT T=d

B. fa= ferwferer

c.ataq I

D. Tiad Tifsrs

[Question ID = 1515]
1. A,Band Conly/F37 A, Bsiw C

[Option ID = 6057]
2. A, B and D only/#a A, B #iv D

[Option ID = 6058]
3. Aand D only/F= A %7 D

[Option ID = 6059]
4, Aand C only/Faa A&7 C

[Option ID = 6060]

45) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The decision-making theory was developed especially in the realm of foreign policy making.
Reason R: It concentrates/focuses on the person shaping international events rather than on the international situation.

In light of the above statements, choose the correct answer from the options given below

R v Faa fegag g . oF w1 afrsaw (A) T gL FTFIL7 (R) FETTATE

Ffrsga (A) : Fvfg a9 1 RigiTs Aav v a RRaAfy P a3 9 fastag Faraarar

FTT (R) : T AT Rafy 3 a9y daerdia gzarsi &1 srwr 7 918 ARF T sqma afpaA g swar g
ITLF FA91 * awerd § wifeg fAwead & & gy sac A .

[Question ID = 1516]
1. Both A and R are true and R is the correct explanation of A/(A) 37 (R) AT #7#1 £ #1T (R), (A) F71 78T =127 2

[Option ID = 6061]
2. Both A and R are true but R is NOT the correct explanation of A/(A) ¥ (R) F=T @21 £ 7977 (R), (A) T 721 =797 741 &

[Option ID = 6062]
3. Ais true but R is false/(A) ¥2f & 97+ (R) 71 72 2

[Option ID = 6063]
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4. Ais false but R is true/(A) #=2r 721 2 97 (R) 797 2
[Option ID = 6064]

46) According to Plato, ‘forms’ belong to the world of

TR B ALHTL, "wiFd FFaat gfar @ 99T §2[Question ID = 1517]

1. Becoming/ZT SITAT [Option ID = 6065]

2. Appearances/fZ@Ta= [Option ID = 6066]
3. Sensations/#@==AT [Option ID = 6067]

4, Being/#f& == [Option ID = 6068]

47) Which of the following statements in respect of the general systems theory is/are correct

A.The general systems theory is highly attractive from the standpoint of empirical research.

B. The theory has been criticized for failing to adequately cater to concepts such as political power and influence.

Choose the correct answer from the options given below:

qTaT=g guTet fgia & d9g 7 fAefafaa d & stvava sgavadt /8
A. FTHT JUITHT FHET T AT AL G & gIHI0 | Fcqfy® srhe« g

B. TrerAtfaes af¥w T wara St sraaroorts #1 vafeg €98 U F0 § faww @ & forg 39 frgia Y i $r g @

= feT g fFreedt # & agt O gd .

[Question ID = 1518]
1. Aonly/Fad A

[Option ID = 6069]
2. Bonly/%3+ B

[Option ID = 6070]
3. Both A and B/A =¥ B 341

[Option ID = 6071]
4, Neither A nor B/AT TAATET B

[Option ID = 6072]

48) Under proportional representation system—

arqatfas whafafires yorsft % aga-[Question ID = 1519]

. The Minorities get representation in proportion to their strength. /ST=THETFT FT IAHT AE4T F AT § A+ 4= H=ar 2 [Option ID = 6073]

1

2. Representation is given to minor voters also. /ATaTfeT wa=TATAT F1 A wf=Hfae fE=r s 2 [Option ID = 6074]

3. Representation is given to minorities people. /s#=raeg=i %1 wfafafé= fFar smar £ [Option ID = 6075]

4. Minorities are given more votes than that of other people. /s#T5&a=1 FT W=7 A1 FT TA4T 7 AT4F 972 57 9197 € [Option ID = 6076]
49) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: According to Kant, “Enlightenment is man's emergence from his self- imposed immaturity”
Reason R: 'Laziness’ and ‘Cowardice’ are the reasons why man remains immature.

In light of the above statements, choose the correct answer from the options given below

= ST Faq oA € : uF w7 ATUFIT (A) AT T FTFTLI0 (R) FETTAT R
ATUFAT (A) : FTT F AT, "ACHATT HLST FT ATAT 97 F 1 FIRIFITd IWHATR”
FTT (R) : 'STEY' ;T FTALAT ALST B AYTIF @ P FILT§

SULE FI91 * awers ¥ ot g fAweai & & gy sac A

[Question ID = 1520]

1. Both A and R are true and R is the correct explanation of A/(A) 37 (R) 191 @21 £ 37 (R), (A) FF 757 =727 2

[Option ID = 6077]

2. Both A and R are true but R is NOT the correct explanation of A/(A) #* (R) 14T @8t & 2= (R), (A) FT #Er =mear 78 &

[Option ID = 6078]

3. Ais true but R is false/(A) 72T & 79+ (R) 721 721 &

[Option ID = 6079]

4. Ais false but R is true/(A) #2r 921 & 73+ (R) 7a1 2

[Option ID = 6080]

50) Match List I with List |I

List |

List Il

Characteristic

Thinker
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A. Power as an attribute of individuals |I. Peter Bachrach and Morton Baratz|
B.Power as agenda setting Il. Robert Dahl
C.Power is productive Ill. Hannah Arendt
D.Power is not only power over but power tle.Michel Foucault
Choose the correct answer from the options given below:

A -l FY g -1 |/ gATHT RAHo:

T -| Y -l

(Frétw =regon) (Fr=rre)

A. =RETT 4 uF AAwar & w9 F af3w). e ggos s atdq aroe
B. FTdg= frafzor # w7 & &wr II. TaZ Tg=

C. §HT ITUTEH & . g1 srLFeay

D. afRF 7 dad T ¢ aftm R ¢ V. Fadiw wistee

7= fyg e fAwedt # & agt sueafhT:

[Question ID = 1521]

1. A-l,B-1,C-IV,D-1II/A-Il ,B-l,C-IV,D-Ill [Option ID = 6081]
2. A-IV,B-1ILC-I,D-1/A-IV,B-1ll,C-lIl,D-1[Option ID = 6082]
3. A-IV,B-1I,C-1,D-1I/A-IV,B-1l, C-1,D - Il [Option ID = 6083]
4, A-I,B-I,C-IV,D-I/A-I1,B-ll,C-IV,D-I[Option ID = 6084]

51) Which provisions of the Epidemic Diseases Act, 1897 enabled management of the Covid 19 pandemic?

agraTd O afyfraw, 1897 # v wragrat & #1fye 19 agrardt # ydaq $Y gaw I9719717

[Question ID = 1522]

1. The act allows the Centre to regulate and inspect any ship or vessel or person arriving or leaving any port/#@fafFare Fz =1 Bt fF stEre o7 =99 o

freft smeame o ane A e A =i #r Bt sy B s fr aqefr e g
[Option ID = 6085]

2. It allows the Centre and states to enforce a lockdown/7g F3 37 71541 FT AIFETIT AT FA FT AATT 777 2

[Option 1D = 6086]

3. It allows the government access to the National Disaster Response Fund/=g H7%T7 F1 7117 et ST F19 9% 95 F7 9@ fd F71

[Option ID = 6087]

4. It allows the government to promptly respond to any disaster/@g 717 T TH#T ST ATT=T FT 77 479 2 7 AT 277 2

[Option ID = 6088]

52) Match List | with List |l

List | List Il
Thinker |Concept
B
A. Mary Wollstonecraft Rights of men are two-dimensional
R
B.Hobbes Laws of nature are precepts of reason
11,
C. Locke Property rights are governed by various ‘provisos’
IV.Education is a process of ‘natural growth’
D. Rousseau

Choose the correct answer from the options given below:

AT -l FTgAT -1l & gaAfog fifve:

et -l R -l

(Frrame=) (FFeTT)

A. &8

ST I ge9T # Ffywre fE-arardt §

B. gisq I, w53 & fraw w1z & fraw §

. . gafw # srftramre T wragray g arfaa
| g

D. F&Y Iv. farer s fas fasra &7 o gfFar

= fag e et & & odt s afAT:

[Question ID = 1523]
1. A-I,B-1,C-1,D-IV/A-1,B-1I,C-1ll,D-IV [Option ID = 6089]
2. A-L,B-1I,C-IV,D-1II/A-1,B -1, C-1V, D-Ill [Option ID = 6090]
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3. A-IV,B-1Il,C-Il,D-1/A-1IV,B-1ll,C- I, D- I [Option ID = 6091]
4. A-IL,B-1I,C-IV,D-1/A-1Il,B-1l,C-IV, D-I [Option ID = 6092]

53) According to Terence Ball the two main versions of postmodernist interpretation derive from

29 TiF F ALHI ITC-AY AFATATAT FT ATEAT F T {&T GEHU THH ITH §T §[Question ID = 1524]

. Hegel and Marx/Z7= =T 59T [Option ID = 6093]
. Foucault and Derrida/=1= == =fir =fr=T [Option ID = 6094]

1
2

3. Leo Strauss and Quentin Skinner /=T =19 =T #fe= f#FA7 [Option ID = 6095]
4. Sigmund Freud and Bruce Mazlish/f& iz wra= =iiw g7 wwf=9r [Option ID = 6096]

54) Neo-liberalism emphasizes on which of the following

Fa-Iarearars fawfafaa & | feg 9T ST 29T &;[Question ID = 1525]
. Increased state intervention/7Ts7 & Z=79T # T3 [Option ID = 6097]

1
2. Role of market/aT=TT & qfw=T [Option ID = 6098]

3. Increased trade barriers/=ITITT ATETEAT 7 3T [Option 1D = 6099]
4. Social justice/dmaf =17 [Option ID = 6100]

55) Arrange the following in a chronological order:
A.Weimer Republic

B.Potsdam Conference

C.Marshall Plan

D.Bolshevik Revolution

Choose the correct answer from the options given below

frafafaa 1 srarasis w9 & srafRaa #3:
A, ST IS

B. vizadw q¥d«T

C. #refs T
D. aredtfars wify
= faw o fraweat & @ gy s A

[Question ID = 1526]
1..4.D:C, B/A D, C,/B

[Option ID = 6101]
2. D, A, B, C/D,A,B,C

[Option ID = 6102]
3. A,B,C,D/A B, C,D

[Option ID = 6103]
4. D, A, C,D/D, A C,D

[Option ID = 6104]

56) Approaches to development that emphasize the environment, often want to focus attention on which of the following?

TIfaTor 9T T 37 A7 fawra # gfewrw, srvac fAufafas 9 @ fva ov sara #f%a $T37 9183 £2[Question ID = 1527]

. Sustainability/f#a¥aT [Option ID = 6105]
Accountability/saTa521 [Option ID = 6106]
Transparency/TT7af9ET [Option 1D = 6107]
Autonomy/#aTa=4aT1 [Option ID = 6108]

.hLAJhJ-—-h

57) The concept of the ‘Four pillar state’ was advocated by

T T ST FT ATGTIOT FT IHTHT FHTH T F7T 7% 91?[Question ID = 1528]

1. R. M. Lohia/#r. ma. 1fz4T [Option ID = 6109]
2. M. N. Roy/mH. =, 717 [Option ID = 6110]

3. J. L. Nehru/5. w#. #g= [Option ID = 6111]

4. B. R. Ambedkar/=T. w7, si==F7 [Option ID = 6112]

58) Which amongst the following is not typical to post-New Public Management?

frafafa ® & 17 91 Oree-=g ufews #aedz & fore rfare adf @2[Question ID = 1529]

. Digital governance/f2f5Z= oo [Option ID = 6113]
Engaged governance /5= T [Option ID = 6114]
Public value/®ATa=T+ g=7 [Option ID = 6115]

.hl..\.lhl--h

Politics-administration dichotomy/TTa=T-3oma fZar=+ [Option ID = 6116]
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59) Who amongst the following thinkers argued that ‘Modernity’ eroded ‘National identity’ and led to ‘Cultural
homogeneity’?

frrafafaa # & fa fa=ros & 9% fear % argfasar & odftg vg=m &7 faer fear s aiegfos esTar 911 s 13w

[Question ID = 1530]

1. Mahatma Gandhi/® g7 7=t [Option ID = 6117]

2. Karl Marx/F1=1 5T [Option ID = 6118]

3. Rabindranath Tagore/7f&zAm4 31 [Option ID = 6119]
4. J.S. Mill/3 .79, firr [Option ID = 6120]

60) In Rawls’ book, The Law of Peoples (1999), ‘well ordered peoples’ include

Tiew A1 gEas, T @f Atw Froed (1999) 7, ‘==t a1g § =wafraa «i & arfys € :[Question ID = 1531]

1. Reasonable liberal peoples and non-reasonable liberal peoples/TaT=T FaeaTET AT A7 7-3=F Fa2arar 07 [Option ID = 6121]
2. Reasonable liberal peoples and decent liberal peoples/T4 i Farvar<t 17 #iv Tv7 Ia7aT41 #17 [Option ID = 6122]

3. Reasonable liberal peoples and decent non-liberal peoples/T91f= FarwaTdt & @ @vT #7-3274arat =1 [Option 1D = 6123]

4. None of the above/3T7<F # & F1% 721 [Option ID = 6124]

61) Arrange the following in ascending order:
A.Break-up of the Soviet Union

B.Perestroika

C.The Prague Spring

Choose the correct answer from the options given below

frwfafaa =7 O 7w & sgafRgs w3
A ST a5 7 fages

B. ¥&TgHT
C. v fEyr
= feT o fyaedt # & afy S99 ¢

[Question ID = 1532]
1. A, B, C/A, B, C

[Option ID = 6125]
2. B,C,A/B,C, A

[Option ID = 6126]
3. C,B,A/C,B, A

[Option ID = 6127]
4. A, C,B/A,C, B

[Option ID = 6128]
62) Which is the largest state-less ethnic group?

g9 TET Usg-fadta 1ty a9g F17 97 §2[Question ID = 1533]
1. Palestinians/ == 1f==1 %1 [Option ID = 6129]

2. Serbs/=aT 7T [Option ID = 6130]

3. Kurds/#=T FT [Option ID = 6131]

4. Shi‘ites/frarsit 7 [Option ID = 6132]

63) In the 1960s, who formulated a new conceptual category, ‘The Congress System’ to characterize India’s party system?

1960 # =% ®, fFga us 9% F=7fes Soft d91T 1, 'F199 fyeeq areg 1 91T worreft &7 ffesa $T7 $ fru?[Question ID =

1534]

1. Jayaprakash Marayan /s/a9=ver 97217 [Option 1D = 6133]
2. D.L. Sheth/Zt.7=. #= [Option ID = 6134]

3. Rajni Kothari/7=+1 #1211 [Option ID = 6135]

4. Ramashray Roy/7T9747 777 [Option ID = 6136]

64) Who wrote Ain-i-Akbari?

AEA-T-HFIT fFaa ferdi?[Question ID = 1535]
Amir Khusraﬂfal‘lﬁ"‘w [Option ID = 6137]
Akbar/#¥%=< [Option ID = 6138]

Abul Fazl/sr9= ®a= [Option ID = 6139]

Barauni/@7 1T [Option ID = 6140]

.h.wh.il-ﬁ
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65) What are the three recognized methods of ‘Policy evaluation’?
A. Policy impact evaluation

B. Policy strategy evaluation

C. Policy project appraisal

D. Policy formulation

Choose the correct answer from the options given below

Ay geaisT &1 v gregar wrw fAfyaf sta-9h 87
A. T waTT FEATHT

B. fa Turifa geaiwn

C. ifa afegsaT geais

D. #tfar farfor

= frT g et # & agt g9 qd .

[Question ID = 1536]
1. Aand B/F97 A %7 B

[Option ID = 6141]
2. A,B,andC /FT7A, BsitT C

[Option ID = 6142]
3. A,B,C,and D /A, B, CHTD

[Option 1D = 6143]
4, None of the above/3T7=F & 1% q21

[Option ID = 6144]

66) Match List | with List |l

List | IList It

(Author) (Book..)

A. Kate Millett. |I. Public Man Private Woman
B.Simone De Beauvoir ]II. The Second Sex

C. Germaine Greer. |III. The Female Eunuch

D. Jean B. Elshtain |IV. Sexual Politics

Choose the correct answer from the options given below:

gt -1 w7 gt -1 | gafe fAifve:

AT -l AT -l

(%) (TETF)

A. T fae | ofees &7 yrgdT a7
B. Rretw & sgata< Il. T §FT aFT

C. 7# 7 AT . T AT AT

D. sft7 &t . qeerew IV. fFgare giferfesa

= faT o frweat # | gt swe g .

[Question ID = 1537]

1. A<l ,B-ll,C-Ill,D-IV/A-I1,B-1Il,C-1ll, D-IV[Option ID = 6145]
2. A-IV,B-lll,C-ll,D-I/A-IV,B-1ll,C-Il,D- I [Option ID = 6146]
3. A-IV,B-1,C-ll,D-I/A-IV,B-1l,C-Ill, D - [Option ID = 6147]
4, A-1,B-Il,C-IV,D-II/A-1,B-1Ill, C-1IV,D- Il [Option ID = 6148]

67) Which ‘group-differentiated rights’ does Kymlicka suggest may be introduced by plural, democratic states for external
protection?

w9 8w e-fas R sfasre o feafas s1garma g 5 age, arsat s usy gro g grar & g yds o srasg 82
[Question ID = 1538]

1. Special group representation rights/f&sra 777 wfafafe= sifaF1v [Option ID = 6149]

2. Self -government rights/=-av%1¥1 #firF1= [Option ID = 6150]

3. Polyethnic rights/@g=Te1T wifa=F17 [Option ID = 6151]

4. All of the above/Z71+F &4t [Option ID = 6152]

68) Which one of the following approaches or models of international politics does not give importance to the role of state
as an actor?
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ID = 1539]

Dependency model/fd=aT gi== [Option ID = 6153]

. Realist Model/7ar4aTET Biz= [Option ID = 6154]

. Neo-realist model/73-Tar4a14T iz [Option ID = 6155]

bt ) =

69) The have an inclination toward skepticism, debunking, and deconstruction of ‘universal truths.’

FTXFTT T4 AHAF 927 * Fogarg, 27 T gz #1 ST [Question ID = 1540]

Postmodernists/ 357 sArf=FaraT<r [Option ID = 6157]
Behaviorists/=r@gT7aT=l [Option ID = 6158]
Socialists/#HTaaT=l [Option ID = 6159]
Revisionists/FemmaaTaT [Option ID = 6160]

i Lt R =

70) The South Asian Free Trade Agreement (SAFTA) has not been a success because of:

A.Narrow export base of countries.
B.Lack of bilateral free trade agreements.
C. Political hurdles.

Choose the correct answer from the options given below

zfiror wfergr = syTaTe uwstar (SAFTA) faafafaa sroot & aww 7t wr &:

A. 2t w1 EFf faafa srars

B. faaefty < =TaTT ARt F1 AT
C. TrsH = arard

= frT oy fFwedi # & 9 g9 A

[Question ID = 1541]
1. Aand B only/#a+ A #i7 B

[Option ID = 6161]
2. Aand Conly/FTTA#T C

[Option ID = 6162]
3. Band C only/&=+ B #i¥ C

[Option ID = 6163]
4. A, BandC/A, B3 C

[Option ID = 6164]

71) Match List | with List Il

List | LList II

(Thinker) \(Book.)

A. Panini |I. Yoga sutras
B. Bharata Muni |Il. Vajrasuci

C. Asvaghosa |III. Natya Satra
D. Patanjali V. Ashtadhyayi

Choose the correct answer from the options given below:

gt -1 ®Y gt -1 @ gAfm fifvg

Interdependence pluralist model/ 4=TT=IT4 Fg=aT41 HI= [Option ID = 6156]

T -l =t -l
(R=TTET) (=)

A. grierfy I =T g

B. wa iy Il TSt

C. =TT . FrETATE
D. weorfer Iv. sreTeaT

= frr o fyweat # | gt s gfag
[Question ID = 1542]

1. A-IV,B-ll,C-ll,D-I/A-1IV,B-lll, C-Il,D-I [Option ID = 6165]
2. A-IV,B-l,C-lll,D-1/A-IV,B-l,C-lll,D- Il [Option ID = 6166]
3. A-1,B-Il,C-ll,D-IV/A-1,B-Il,C-lll,D-IV[Option ID = 6167]
4. A-1I,B-1IV,C-l,D-II/A-1Il, B-IV,C-l,D-Il [Option ID = 6168]

72) Which amongst the following are features of the Jan Lokpal Bill?

A. The Lokpal will have powers to receive complaints from the public and initiate suo-moto action
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B. The Lokpal will have police powers and would also be able to register First Information Reports (F.l.R.s)

C. The Lokpal and CBI will not be connected
D. The Lokpal would be able to commence prosecution of anyone found guilty

Choose the correct answer from the options given below

faafafaa & 8 17 9 97 g Adas Y RAdwarg §2

A, FITH ® 78 TTaT & FIrwrgd a7 £33 T =270 & F18arE 4% 3 &7 afFsre i
B. Wr&wTe & Ty qfera orfw Yot st ag wow g=ar fond (F.LR.s) gt #3 & ot 997 g
C. ATFHITH AT dTTarg HT T FATST ATYAT

D. ST FreT a1y 91a Arer fRdt ot == & fRywre gegar 99 F aa9 i

= faw o fweat & @ gy suT A ¢

[Question ID = 1543]
1. Only A and B/F3+ A 47 B

[Option ID = 6169]
2. A,Band C/F37A, BT C

[Option ID = 6170]
3. A,BandD/FTTA, BT D

[Option ID = 6171]
4. A, B, CandD/A, B, C 57D

[Option ID = 6172]

73) Which one of following was not authored by Plato?

frefafaa ® & st a1 geas @2 g A8l forat 147 712[Question ID = 1544]
. The Statesman/z ==a#+ [Option ID = 6173]

The Laws /% =1 [Option ID = 6174]

Apology /st [Option ID = 6175]

Nicomachean Ethics/ A== ufa#7 [Option ID = 6176]

.h.l..-.lh.l-—-»

74) Which one of the following is incorrect about the representation model suggested by Hanna Pitkin?

g1 frefeT gror gare ao wfoffaes wiew & a & Aafafas & & w17 a1 797 87[Question ID = 1545]
1. Authorized/wrfirge afafafaes [Option ID = 6177]

2. Proportional representation/#rarfas ufafafa=r [Option ID = 6178]

3. Symbolic representation/wd =A% afaffa== [Option ID = 6179]

4, Substantive representation/aTiza® wfafafae [Option ID = 6180]

75) Which one of the following statements is not correct?

fawfafaa & 9 #t7 a1 $97 gt € 27[Question ID = 1546]

1. Diplomacy is an instrument of foreign policy/®=+1fa frger iff %71 v+ 7raw & [Option ID = 6181]

2. Major international agreements are usually negotiated by foreign ministers/ 9@ #a73T91T ARATFT T7 :M0AT7 7 Fzer gF=g7 gry A= &1 70 &

[Option ID = 6182]

3. Diplomats do not play now as great a role in international negotiations as they once did/FTa=Ta® o= 7S ATaten § Iq4T a1 gia=Fr a1 Fram,

Tt FHT 9T 4 [Option ID = 6183]

4. Diplomats now get greater latitude than they enjoyed in 19th Century/TTa=Ta=T T a0 1937 orav=ar &1 =41 § ATGF 27 H=41 2 [Option ID = 6184]

76) Match List | with List [I

List | List Il

(Thinker/ldeology)(ldeas in International Relations.)

|. Inter-state conflict is due to the structure of the international system:
namely, the lack of an overarching authority above sovereign states.

B. Liberalism Il. States are power maximizers.

A. Kenneth Waltz

C. John

Mearsheimer I1l. Global governance system

D. D. Michael IV. ‘social world’ is not external to the people who live in it and is easily
Zurn changed.

Choose the correct answer from the options given below:

gt -1 F7 gt -1l & gafrg fifsg

Rt - = -1l
(FFrarrea/FerameaT) (Fa<fdg g4t § fa=mv)
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. SFT-TIsTT g w1 FTCT F TP TFEYT FT
A, FHT FTEIH WTHAT & AGTq, €I AT FIL TF ATTH
wfaFTT AT FAT
B. S3TLATATE I, Tr57 FfgrFaw afw 7213 §
C. wta frffrw 1. s srrae worreft
Iv. |rarfers gfar & @R are ot & g ag
D. €. arzda A4 @y gfrar a1gdt At & sttt ag srwrAt @ Fgw et

= faw o fFweat # & gt swegfag .

[Question ID = 1547]

1. A-ll,B-Il,C-V,D-1/A-1I
2. A-1,B-IV,C-1l,D-I/A-1,B-1IV,
3. A-IV,B-ll,C-1,D-I/A-IV,B-II
4, A-W,B-Il,C-l,D-IV/A-1Il,B-1I

77) Match List | with List Il

B-Ill,C-1V,D-1[Option ID = 6185]

C -1, D - Il [Option ID = 6186]
l, C-1,D - Il [Option ID = 6187]
, C-1,D- IV [Option ID = 6188]

List | IList I
(Thinkers) \(Books)
A. Periyar

fI. The Cry of Indian Women

B. Jyotirao Phule

(ll.Stri-Purush Tulna (A comparison between woman and man)|

C. Tarabai Shinde

|III. Why were women enslaved

D. Pandita Ramabai

|IV.Shetkaryacha Asud (The cultivator’s whipcord)

Choose the correct answer from the options given below:

gt -1 wr gt -0 & gAfm fifsig

AT - AT -l

ERIEGE)] (T&TF)

A. TR I. T %717 At% ERIT AT
B. ST B I = - gEy gT

C. arTrars fae I, 3gT¢ AT AT TAEeAT
D. ¥f¥aT TaTaATE IV. Sta=at=T AT e

= fag o fFweqt # | gt swegfag .

[Question ID = 1548]

A-NLB-N,C-1,D-IV/A-1,B-II,

A-ILB-L,CAIV, DAL B -

C -1, D -IV [Option ID = 6189]
C -V, D -1l [Option ID = 6190]

1
2

3. A-IV,B-ll,C-1,D-Il/A-IV,B-lll, C-l,D-ll [Option ID = 6191]
4. A-Il,B-1IV,C-lIl,D-I/A-IIl, B-1IV, C-Il, D-I[Option ID = 6192]

78) Who heads the administration of the union territory of Lakshadweep?

AHET g ATIAT T2T F TATHT FT IHFT F17 22[Question ID = 1549]

T A

Secretary/®= [Option ID = 6196]

Governor/7T=9971= [Option ID = 6193]
Lieutenant Governor/377T599T [Option ID = 6194]
Administrator/99maF [Option ID = 6195]

79) Which amongst the following is not a key tenet of Liberalism?

frafafaa & @ #1791 IgTCarars 1999 fagia 7€ 82[Question ID = 1550]

Possessive individualism /s7fE=Fraqoy

.hl.uh.l-h

Pluralism/@g==1= [Option ID = 6200]

80) Who amongst the following Marxist thinkers introduced the concept of ‘hegemony’?

ferafafaa aradardt frarest § & fras srfiroes &1 stagTorT T F1?2[Question ID = 1551]

1. Gramsci /IT#T [Option ID = 6201]
2. Lenin /=T [Option ID = 6202]

3. Louis Althusser /F=# #=qA7 [Option
4. Rosa Luxemburg /1= a1 [Opti

. Economic determinism /#1f4# fFrafdams [Option ID = 6197]

=r=rars [Option ID = 6198]

Individual Liberty /=rf=rra #=a=a1 [Option ID = 6199]

ID = 6203]
on ID = 6204]

81) Which article bars the interference of the Judiciary in the matter of polls conducted by the Election Commission of

India?

FIT T HLSRE ATLT B LATT ATV GIL FLUC TC LATET B ATHR 7 =qTAITIAFT B ZEq@T F 7 AHav 22[Q
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Article 325/#=47 325 [Option ID = 6205]

Article 327/#i7=4= 327 [Option ID = 6206]

Article 328/# == 328 [Option ID = 6207]
Article 329/#T=2= 329 [Option ID = 6208]

o bt Bt —

82) In which case did the Supreme Court of India lay down clear guidelines in instances of sexual harassment?

HICT F gaTg A1AT7 7 FFa Am7a & 77 Iofteq 3 779’ # a8 # e frar-fAd o fRw §2[Question ID = 1553]
1. Vishakha and Others versus State of Rajasthan and others/f3ermaT 3T w7 FATH 17419 7157 17 5=9 [Option ID = 6209]

2. S.R. Bommai versus Union of India/Ta.317. S1¥4= T9T9 917d 97 [Option ID = 6210]

3. Indira Sawhney versus Union of India/zf%T ama+t a=me 9o @ [Option ID = 6211]

4. Tukaram and Others versus State of Maharashtra case/TF171H iY77 T9TH "ETITE 7759 ATHAT [Option 1D = 6212]

83) Who among the following endorse anarchism?
A. Karl Marx

B. Pierre Proudhon

C. Peter Kropotkin

D. Adolf Hitler

frafafaa & / F17 srasFaraTe 19T F@TE?
A. FTH ATFH

B. frat yrsetw

C. freT mrarefET

D. weTe fgzas
= faT o faedt & & gy 3w 9A ¢

[Question ID = 1554]
1. A,BandC 1339 A, B #iT C

[Option ID = 6213]
2. Band C/F37 B #iw C

[Option ID = 6214]
3. Band D/F39B &= D

[Option ID = 6215]
4, Cand D/FF= C &= D

[Option ID = 6216]
84) Which among the following provisions of Indian Constitution have been taken from the Weimar Constitution of Germany?

1Tt g g # fawfafas gragrat & @ st ar 9+ @ o gfram & g 7971 @2[Question ID = 1555]
1. The concurrent list/®H==T 7= [Option ID = 6217]

2. Suspension of Fundamental Rights during emergency/ TTTa#T & 21917 HIf+1F ATaF1e1 F7 fA==7 [Option ID = 6218]

3. Fundamental duties/®Tf=® %724 [Option ID = 6219]

4. Independence of judiciary/=mrrfe=1 FT =41 [Option ID = 6220]

85) Which citizenship amendment act made illegal immigrants ineligible for citizenship by registration or by naturalization?

frg arfoaar g araw afafaras F a9 awarfyat £ dsttaoor a1 2 dtgsoor gran amrfosar & f¥r stara a7 fE71?[Question 1D

= 1556]

Citizenship (Amendment) Act, 1986/aTTTv=aT (derra=) wfeafa=a, 1986 [Option ID = 6221]
Citizenship (Amendment) Act, 1992 /aTrfr=aT (derra=) afafaa, 1992 [Option ID = 6222]
Citizenship (Amendment) Act, 2003 /7Trf=aT (derrem) afaf7m, 2003 [Option ID = 6223]
Citizenship (Amendment) Act, 2005/ATTTv=aT (Femae) sifafe=a, 2005 [Option ID = 6224]

e bl B =

86) Which political thinker has argued that there is a shift from ‘politics of ideas’ to the ‘politics of presence’?

fra Taittos fRaros 7 a3 fear g 0% =< 1 vadtfa ) safRefy 1 oot & oftad = g g 82[Question ID = 1557]
Martha Nussbaum/#m4t 55415 [Option ID = 6225]

l. M. Young/&T%, ma. 537 [Option ID = 6226]

. Susan Ferguson/H#T™ %= [Option ID = 6227]

Anne Philips/T+7 ff=r=1 [Option ID = 6228]

bt B —

87) Which of the following are associated with Public Interest Litigation?
A. Expansive view of the rule of locus standi

B. Stringent judicial procedures
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C. Procedural flexibility
D. M.C. Mehta vs. Union of India (1987)

Choose the correct answer from the options given below

frafafas & @ st iy arfyer @ defaa &7
A. M5 ©eT B araT w1 Aega gfEso

B. 31T 7aTfys yfward

C. sfrgrens wftaryw

D. TH. €T, ATATAATH AILT G H (1987)

= faw o fraweat & & gy O A .

[Question ID = 1558]
1. A,B,CandD/A, B, C#= D

[Option ID = 6229]
2. BandD/39B %7 D

[Option ID = 6230]
3. A,CandD JFFT A, C#iT D

[Option ID = 6231]
4, Band C/Fa9B &= C

[Option ID = 6232]

88) Which of the following is not a part of the Directive Principles of State Policy?

frafafya & @ w17 Trow & iy PR as geat w1 fRRearadi &2

[Question ID = 1559]

1. Secure for all citizens a uniform civil code throughout the country/T¥ o1 § #rft amfeai # o v smr awfes af@ar qefam

[Option ID = 6233]
2. Cow-Protection/TTa-a7e0

[Option ID = 6234]
3. Protection of environment /Tfa7or £ qaT

[Option ID = 6235]

4. All minorities shall have the right to establish and administer educational institutions of their choice/™dT A=Ta=TFT FT AT TH7 F F91e107 HEAT

[Option ID = 6236]

89) In the context of the United Kingdom, the reforms Acts of 1832, 1867, 1884 are related to:

gaTsee fhrew % @3+ #, 1832, 1867, 1884 % gur< sfgrfagw sa® @« f¥w §:[Question ID = 1560]

1. Powers of Lords/=T=# £ «rf¥Fai [Option ID = 6237]
2. Powers of King/7Tam #t #rfeF=T [Option ID = 6238]
3. Franchise/gatf&=1= [Option ID = 6239]

4. None of these/z##H & F1Z A#( [Option ID = 6240]

90) Article 18 of the Indian constitution deals with

ATLATT g FagTa 7787 18 398 daf&7 g :[Question ID = 1561]

. Abolition of untouchability/s## 799471 F1 374== [Option ID = 6241]
Abolition of Titles/zTTferat #1 374#+ [Option ID = 6242]

.h.LAJI‘\.'I—-h

91) Zoon politikon refers to:

w7 giferfesta g2f¥a 7T 2:[Question ID = 1562]

1. Man as a political animal /% Trsrtfa® sitra7 # =7 § #9707 [Option ID = 6245]

2. Political community/TTai=Ta9 AT [Option ID = 6246]
3. Political space /7Tai+Ia# #4717 [Option ID = 6247]
4. Political economy/7Ta=Ta® srd=ra=ar [Option ID = 6248]

92) Which of the following are included in the basic structure of the constitution of India?

A. Judicial Review
B.Preamble

C.Free and fair elections

Protection in respect of conviction for offences/= 7=t & form Zmafafa & w99 & #7=07 [Option ID = 6243]
Protection of life and personal liberty/sTa= = srf=Faa Faa=ar &1 7747 [Option 1D = 6244]
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D.Secularism

Choose the correct answer from the options given below:

faafafaa & 9 $t7 wreg # g & ga g 7 arfas §2
A. =TI atar

B. WEATAAT

C.eqd 7 ot fAsoer ga19

D. adfATTarar

= faw o fweat & @ gy suT A ¢

[Question ID = 1563]
1. Only A & B/F=« A 47 B

[Option ID = 6249]
2. Only A& C/FaT AHiT C

[Option ID = 6250]
3. OnlyA, B&C/FaTA, BT C

[Option ID = 6251]
4, All of the above/Z771=F TT

[Option ID = 6252]
93) The first President of the Republic of China was:

=1 TS F Tgo TPITT 4:[Question ID = 1564]
Tae Ping/ATm fifar [Option ID = 6253]

Mao Zedong/HT4T F=1=T [Option ID = 6254]

Sun Yat Sen/#¥ AT - #97 [Option ID = 6255]

. Li Peng/#T T [Option ID = 6256]

A d B =

94) Who wrote the book The Civic Culture?

7 fafas s gras fraa fardt 22[Question ID = 1565]

. Karl Deutsch/#T# =121 [Option ID = 6257]

Gabriel Almond and Sidney Verba/ifag= st=rai= #fiv ffr=+1 7=t [Option ID = 6258)]
V.0. Key/#1.21. #T [Option ID = 6259]

Max Weber /&% F37 [Option ID = 6260]

.p.um-*

95) Iris Marion Young wrote about:

argfg #fegs g F gad 913 & frar :[Question ID = 1566]
Democracy and Difference /=HT#HT = 2%+ [Option ID = 6261]
Cosmopolitanism/Fi#aTTI==77 [Option ID = 6262]
Enlightenment/T=ATzz=H= [Option ID = 6263]

Marxism /AT [Option ID = 6264]

b P —

96) The Fundamental Duties were added to the Indian Constitution in the year

1Lty g frgra F 9ifers s &1 g9 3 F SYET 797 97 :[Question ID = 1567]
1956/1956 [Option ID = 6265]
1976/1976 [Option ID = 6266]
1980/1980 [Option ID = 6267]
1987/1987 [Option ID = 6268)

-hh-*h-‘v-*

97) Match the following authors with their books:

List | IList Il

(Author) (BOOK)

A. Perry Anderson Il. The Indian Ideology
B.Partha

: I.The Nation and its Fragments
Chatterjee

lll. Imperialism and the Developing World: How Britain and the United States Shaped the Global
Periphery

D. Atul Kohli |IV. Ethnicity and Nationalism: Theory and Comparison

Choose the correct answer from the options given below:

C. Paul Brass

At -l FT gAT -1l | gATag Fifvrg:
-l -
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@) (=)
b & Il. g g srgfearsy

ﬁ%;f Il. T A7 UT T BAATH

E. gt Il grafeaferen g 7 dawfiy ao¢ : gra 2w de 7 garsee
LKl eI A T Wy et

“;ﬁ“ . TfRafad v daarhred ; e vE FE R

= faw o fFweat # | gt saegfag .

[Question ID = 1568]

1. A-lll, B-1v, C-ll, D-1/A-IIl, B-IV, C-ll, D-I [Option ID = 6272]
2. A-l, B-Il, C-lll, D-IV/A-I, B-1l, C-lll, D-IV [Option ID = 6269]
3. A-ll, B-1V, C-lll, D-1/A-Il, B-IV, C-Ill, D-I [Option ID = 6270]
4. A-l, B-Il, C-IV, D-llI/A-1, B-1l, C-IV, D-lIl [Option ID = 6271]

98) Who coined the phrase “permit-license-quota Raj” to describe the system of state-directed economic development
planning in India?

AL | UsF-fAE fora swfqs faswra avsar 1 worsft &7 997 37 $ o "wefye-agdg-srer v arFaia fFaa 1317[Question
ID = 1569]

1. C. Rajagopalachari/#T. Trsemam=m=¢T [Option ID = 6273]

2. T.N. Srinivasan/#7.0, =fifaara+ [Option ID = 6274]

3. Atul Kohli/3ra= 2= [Option ID = 6275]

4. M.M. Ansari/TH.79. #4T [Option ID = 6276]

99) The view of politics as conciliation of interests is endorsed by:

faat & gog # v & TwAfy & gfEsro w1 aadT fra® g B sraT 8:[Question ID = 1570]
1. Liberalism/Z=T7ama1% [Option ID = 6277]

2. Marxism/#TF4T3 [Option ID = 6278]

3. Postmodernism/357 Wqﬁﬂﬁﬁﬁ [Option 1D = 6279]

4. Anarchism/#z=TaFamars [Option ID = 6280]

100) What is the main role of the IMF?

AMETATE § 1 T&F L HFT F47 §?[Question ID = 1571]

1. To ensure a stable exchange rate regime and provide emergency assistance to countries facing crises in balance of payments. /97 f&f#mT 77 =3a=1
AFATET F7A7 7 AT GGA7T § T2 FT ATHAT T 72 5907 FT AR T0a7 I577 F747 [Option 1D = 6281]

2. To be a forum for trade and liberalization /=TI @i a0 F f&7 % @7 75747 [Option ID = 6282]

To assist countries in development/fara # Zuit it Fzra=m F7=7 [Option ID = 6283]

4. To facilitate private investment around the world/zfF=m &= # fsft e i qfEw 257 [Option ID = 6284]
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